2] (a—b)(a® + ab + b*) & A7NSHH?

D a?-b? (@)a3—b3
® a®+b? @ a® + 3a%b + 3ab? + b?

® a® - 3a®b + 3ab® - b®

A 1 (a-b)(a* +ab+b*) = a® - b®




2.

(x - 2y - 32)2& AABte] xoll hT ARe02 Helsha?

@ x? + 4y? 4+ 922 — 4xy + 12yz — 62x

@ x? —4xy +4y® — 972 + 12y7 — 62x
@x2 — (4y + 62)x + 4y? + 12yz + 97>

@ 4y? +12yz 4 92° + (—4y — 62)x + x*

® 922 +4y? + 12

(x =2y —3z2)? = x? — (4y + 62)x + 4y* + 12yz + 92°




=

A2

3. (a-b-c)?2E A A7

@® a? + b? + % + 2ab + 2bc + 2ca
@ a?® + b? + % — 2ab — 2bc — 2ca
® a? - b* - c? - 2ab - 2bc - 2ca

@a2+b2+02—2ab+2bc—2ca

® a? - b? -2 + 2ab — 2bc — 2ca

(a=b-c)?
= a® + (=b)? + (=¢)? + 2a(=b) + 2(=b)(~c) + 2(-c)a
= a® + b? + ¢ — 2ab + 2bc — 2ca




Ol y = ~2a + dx + 1 9] HTUZLS FoHH?

® 1 @ 2 ®)s @-1 ® -2

y=-2x>+4x+1
=-2(x-1)2+3
x=1¢ o, H9igt 3= 2=t




@

5 f(x) = 2% - 2x + 2 9] A2 52

@ -1 @ 0 @1 @

N —
@
\S]

fx)=x2-2x+2=(x-1)>+1 A
(=19 o 4ol A £(1) =1







A 22 4 3x+a, ¥~ 3r+ bS] ARFHST x- 190 W, Az

O,
o 1

wlg Fotofel,

okl n

DO x>+3x2-12x+38 @ x*-3x2+10x-8
@x3+x2—10x+8 @ x> -9x+38

® ¥ +2x2-8x+10

1+3+a=01-3+b=0°Aa=-4 b=2
¥ +3x-4=(x-1)(x+4)

2 -3x+2=(x-1)(x-2)

I8ug F oA Hagalee

(x=1)(x-2)(x+4) =x>+ x> - 10x+ 8




T O ¥+ ax + b, x* 4 3bx + 2a 2] FHFFFTF x - 14 T,
a+ b9 gk Fshd?

@® 2 @1 @0 @—1 ® -2

S5 ~
A3t x- 10|22

X’ +ax+ b2 x® +3bx + 2a=

B .12 o] ojAof e,

S 1l4+a+b=0°3114+3b+2a=0

oetA g =-2 b=1

Ta+b=-1




= oA f(x) = 2% —ax + b, g(x) = 22 + ax — 2b 9] A BFST}
19 o, f(x),g(x) o] AFurE F6HH?

O -1+ D)+2) @e-12+a)x+2)
@ (x-1D(x+1)*(x+2) @ (x-1)(x+4)*(x+2)

® (x=1)(x+4)(x+2)?

S8

g1 2ol ofsi

f)y=1-a+b=0

g)=1+a-2b=0

AHSHH, a=3,b=2

S f(x)=x3-3x+2

ZHAIHS o]-&5H4,

fx) = (x-1)*(x+2)
:x2+3x—4=(x—1)(x+4)

o R A S (x_1)2 x+4)(x+2)




10.

@1 2)2 ® 3 @ 4

Gre ta—p -2t
O8BER Hedtn=2

n=1¢%u,

V2 V2 V2(1-i) + V2(1 +)
T+i 1-i (14i)(1-1)
n=2du, 24 2 __2,2 _g




11, i+ B4+ 4+7+ -+ =a+bi D, a+b 2 F2? (F,a b

£ %)

@0  @n ® 2 @ 3 ® 4

E)=i-it+i-i+---+i=i°|BE
i=a+bi oM Hap7t AR ZE 2300 st a =0, b=1
Ta+b=1




14 -
12 A= AT 14 A+A% + A7 + o+ 410G TS o}
-1

On @ i ® 0 @-1 ® -

B

A:1+{: (1.+i)2. .
1-i  (1-i)(1+49)
A= — ] AB—pP— A==
14+ A+ A2+ A3 ... 4 AL00
=1+ (A+A%2+A3+ A%+
+(A97~|—A98—|—A99—|—A100)
— S e DO R B e [
=1




() - @) -

"= _10] AstAR n=4dm+2 (m20)
@®:8=4x2+0




14, 2= —2_ oluj 4z 9 22 FEAD, i = V1)
1+ V3i

@) vai @ -V3i ® 2V3i
@ -2V3i ® 1

B

)
R

_ (1= V3i)
T (14 VBi)(1 - VBi)
_ 2(1-¥3)
_—1+4\/§i

N 2

224+ 1=+3i---@

@] FHE AFsto] 2ot
42 4+4z+1=-3242+1=0---Q
@9] FHof z- 15 FoFH
- +z+1)=0B=1
L2 =19B2 A=
Lt -7=2-3
14+ V3 -1 V3i

2 2
= V3i




15.

w:—l—i- \/31%1‘@1, 1 _
2 3w2 + 4w+ 2
o] ol thste] a + b ] 3= o142

a+bw =

D1 @-1 ® 2 @ -2

B

a
L

=
=

SRS
4
© -3

w = _1+T‘/§l of| A

20+ 1= V3i
FH-Z AlFotd,
40’ +4w+4=0

LWt w+1=0
30 +tdw+2 =3 +w+1)+w-1
=w-1

L=a+ba)°ﬂ/q
w-1

(a+bw)(w-1)=1
(a-2b)w-(a+b)=1w?=-w-1
wa—-2b=0, a+b=-1°4




